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1. Prove that the.circumcentre of an equilateral

triangle is the same as its centroid.

i) Calculate the length of a side. of an


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_oz4sPX9wFgUt

equilateral triangle with vertices on a circle of
diameter 1 ceritimetre.

i). Calculate the perimeter of such a triangle.

o Watch Video Solution

2. Calculate the perimeter of a square with

vertices on a circle of diameter 1 centimetre.

° Watch Video Solution



https://dl.doubtnut.com/l/_oz4sPX9wFgUt
https://dl.doubtnut.com/l/_QjAIV2CKR7Ee

3. Calculate the perimeter of a regular
hexagon with vertices on a circle of diameter 1

centimetre.

o Watch Video Solution

4. The perimeter of a regular hexagon with
vertices on a circle is 24cm.
i) What is the perimeter of a square with

vertices on this circle?


https://dl.doubtnut.com/l/_oJWRk7kqfepT
https://dl.doubtnut.com/l/_mcbyTu1PKj30

i) What is the perimeter of a square with

vertices on a circle of double the diameter?

° Watch Video Solution

5. A wire was bent into a circle of diameter 4
centimetres. What would be the diameter of a
circle made by bending a wire of half the

length?

o Watch Video Solution



https://dl.doubtnut.com/l/_mcbyTu1PKj30
https://dl.doubtnut.com/l/_o3zV8gnQeov7

6. The perimeter of a circle of diameter 2
metres was measured and found to be
about.6.28 metres. How do we compute the
perimeter of a circle of diameter 3 metres,

without measuring?

o Watch Video Solution

7. In the pictures below, a regular hexagon,
square and rectangle are drawn with their

vertices on a circle. Calculate the perimeter of


https://dl.doubtnut.com/l/_jCzfItNvgWkh
https://dl.doubtnut.com/l/_Inj7xTeZI8i6

each circle.
'(##VPU_HSS_MAT IX_C09 EO2 001 QO1##)

(##VPU_HSS_MAT IX_CO9 E02 002 QO02##)'

o Watch Video Solution

8. An isosceles triangle with its vertices on a
circle is shown in this picture. What is the
perimeter of the circle?

'(##VPU_HSS_MAT IX_CO9 E02 002 _QOT##)

° Watch Video Solution



https://dl.doubtnut.com/l/_Inj7xTeZI8i6
https://dl.doubtnut.com/l/_KOuL6gnRlnmI
https://dl.doubtnut.com/l/_VDSilpJGldJu

9. In all the picture below, the centres of the
circles are on the same line. In the first two
pictures, the small circles are of the same

diameter.

'(##VPU_HSS MAT IX CO9 EO2 003 QO14##)

° Watch Video Solution

10. Prove that in all pictures, the perimeters of
the large circle is the sum of the perimeters of

the'small circles.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_VDSilpJGldJu
https://dl.doubtnut.com/l/_74aOg00F8qPK

11. In this picture, the circles have the same
centre and the line drawn is a diameter of the
large circle. How much more is, the perimeter
of the large circle than the perimeter of the
small circle?

'(##VPU_HSS_MAT IX_C09 EO2 005 QO1##)'

° Watch Video Solution



https://dl.doubtnut.com/l/_74aOg00F8qPK
https://dl.doubtnut.com/l/_jMWs7H6CHz7p

12. Corners of a square are. on a circle. If the
length of one side of square is 10 cm, find the

perimeter of the circle.

o Watch Video Solution

13. A wheel is of radius 30 cm. If the wheel
revolves 200 times in one minute then find the

speed of wheel in km/hour.

o Watch Video Solution



https://dl.doubtnut.com/l/_BXzgCB4xT1qY
https://dl.doubtnut.com/l/_OMU2MNJdiZqt
https://dl.doubtnut.com/l/_aVz9lwiYKiPr

14. The diameter of a car wheel is 60 cm. How

many revolutions does If make in travelling 5

km?

o Watch Video Solution

15. A wheel is of radius 20 cm. If it make 10
revolution ,find the distance of the wheel goes

ahead.

o Watch Video Solution



https://dl.doubtnut.com/l/_aVz9lwiYKiPr
https://dl.doubtnut.com/l/_BlzTXZN1BIgS
https://dl.doubtnut.com/l/_8PRUwbZ2gbW0

16. In the pictures below, find the difference
between the areas of the circle and the

polygon, up to two decimal places

o Watch Video Solution

17. The pictures below show circles through
the vertices of a square and a

rectangle.Calculate the areas of the circles

o Watch Video Solution



https://dl.doubtnut.com/l/_8PRUwbZ2gbW0
https://dl.doubtnut.com/l/_ZqRhrHsOqfBF

18. Draw a square and draw circles centered on
the corners, of radius half the side of the
square Draw another square formed by four of

the first square and a circle just fitting into it:

° Watch Video Solution

19. Prove that the ared of the large circle is
equal to the sum of the area of the four small

circles.

° Watch Video Solution



https://dl.doubtnut.com/l/_peZqfbfo4aul
https://dl.doubtnut.com/l/_Jb1joojoruWa

20. In the two pictures below, the squares are
of the same size.
Prove that the green regions are of the same

area.

o Watch Video Solution

21. Parts of circles are drawn inside a square as
shown in the picture below.
Prove that the area of the blue region is half

the area of the square.


https://dl.doubtnut.com/l/_Jb1joojoruWa
https://dl.doubtnut.com/l/_qVq8URrK9yzX
https://dl.doubtnut.com/l/_kcN00qywiGXI

° Watch Video Solution

22. In the figure, semicircles are drawn with
the sides of a triangles as diameters. Prove
that the area of the largest semicircle is the

sum of the areas of the smaller ones.

o Watch Video Solution

23. A wire 66 cm long is bent into a circle.

What is the area enclosed within it?

| e |


https://dl.doubtnut.com/l/_kcN00qywiGXI
https://dl.doubtnut.com/l/_lacxKcAz7dSs
https://dl.doubtnut.com/l/_mpp0Vke4LCjB

& Watch Video Solution I

24. A circular dining table has 6.16 sq.m area.
What length of wooden rod should be bought

to make a border around its edge?

° Watch Video Solution

25. Suppose that each side of the square in
the picture has length 12 cm . What is the area

of the shaded part?

l ° Watch Video Solution


https://dl.doubtnut.com/l/_mpp0Vke4LCjB
https://dl.doubtnut.com/l/_DErtR2qeTck9
https://dl.doubtnut.com/l/_QBTYrO8wJ5SK

26. Suppose that the diameter of the circle in
the picture below is 18 cm . What is the area
of the shaded part?

'(##VPU_HSS_MAT IX_C09 E03 011 QO1##)’

° Watch Video Solution

27. In each of the figures below, find the area

of the shaded part. All lengths are. 'in


https://dl.doubtnut.com/l/_QBTYrO8wJ5SK
https://dl.doubtnut.com/l/_AtpndKVzgeQG
https://dl.doubtnut.com/l/_CebTvmeRojdT

centimetres.

'(##VPU_HSS_MAT IX_C09 EO3_012_QO1##)'

° Watch Video Solution

28. In a circle of radius 3 centlmetres, what is

the length of an arc of central angle 60° ? .

o Watch Video Solution

29. What is the length of an arc of central

angle 50°, in a circle of radius 2.5


https://dl.doubtnut.com/l/_CebTvmeRojdT
https://dl.doubtnut.com/l/_MZrVu1LHPcad
https://dl.doubtnut.com/l/_tqZgwkjL22Yr

centimetres?

o Watch Video Solution

30. From an iron ring of radius 9 centimetres,
a piece of central angle 30° is cut off. This is
then bent into a small circle. What is the

radius of this circle?

° Watch Video Solution



https://dl.doubtnut.com/l/_tqZgwkjL22Yr
https://dl.doubtnut.com/l/_YpXqvDUhAD1J

31. From an iron ring of radius 9 centimetres, a
piece of central angle 30° is cut off. This is
then bent into a small circle. What is the

radius of this circle?

° Watch Video Solution

32. In a circle, the length of an arc of central
angle 40° 'is 3w centimetres. What is the

perimeter of the circle? What is its radius?

° Watch Video Solution



https://dl.doubtnut.com/l/_h3SghEzpoFlG
https://dl.doubtnut.com/l/_pK3fAWLotGFt

33. In a circle, the length of an arc of central
angle 25° is 4 centimetres.

i) In the same circle, what is the length of an
arc of central angle 75° ?

li) In a circle of radius one and a half xx the
radius of this circle, what is the length of an

arc of central angle 75° ?

o Watch Video Solution



https://dl.doubtnut.com/l/_pK3fAWLotGFt
https://dl.doubtnut.com/l/_cHEbmwZ6omSa

34. From a bangle of radius 3 centimeters, a
piece is to be cut out to make a ring of radius

1
— centimeters.

2
i) What should be the central angle of the
piece to be cut out?

i) The remaining part of the bangle was: bent

to make a smaller bangle. What is its radius?

o Watch Video Solution



https://dl.doubtnut.com/l/_c8k4pB4urpsJ

35. The picture shows the parts of a circle
centered at each vertex of an equilateral
triangle and passing through the other two

vertices. What is the perimeter of this figure?

o Watch Video Solution

36. Part of circles are drawn, centred at each
vertex of a regular octagon and a figure is cut
out as show below:Calculate the perimeter of

the figure.

| & I


https://dl.doubtnut.com/l/_ELFOv39l6ivg
https://dl.doubtnut.com/l/_SihP8rBvOn0m

| ¥ Watch Video Solution |

37. If the length of an arc of a sector having
radius 9cm is 2mecm, then find the central

angle of the sector?

o Watch Video Solution

38. A rod of length 20cm is bent in the form of
an arc. If the central angle of this arc.is 60°,

then find the perimeter of the circle?

o Watch Video Solution



https://dl.doubtnut.com/l/_SihP8rBvOn0m
https://dl.doubtnut.com/l/_86uhLZ2wV4ao
https://dl.doubtnut.com/l/_vf1RkH9vd80N

39. The length' of an arc of a circle is 4cm.
What is the length of an arc of the same

central angle in a circle of double the radius?

o Watch Video Solution

40. Find the circumference of a circle of area

15sq. cm

o Watch Video Solution



https://dl.doubtnut.com/l/_vf1RkH9vd80N
https://dl.doubtnut.com/l/_z3GrKLW4xKMU
https://dl.doubtnut.com/l/_LYXRtU76rDYc
https://dl.doubtnut.com/l/_eESp2sS9OC0S

41. If the perimeter of a circle and perimeter of
a square are equal, then find the ratio of their

areas.

o Watch Video Solution

42. What is the area of a sector of central
angle 120° in a circle of radius 3 centimetres?
What is the ared of a sector of. the same
central angle in a circle of radius 6

centimetres?

l o Watch Video Solution


https://dl.doubtnut.com/l/_eESp2sS9OC0S
https://dl.doubtnut.com/l/_HEjtLtuMefv6

43. Calculate the-area of the green colored

part of this picture:

o Watch Video Solution

44, Centered at each corner of a regular
hexagon, a part of a circle is drawn and a
figure is cut out as shown below:

What is the area of this figure?

° Watch Video Solution



https://dl.doubtnut.com/l/_HEjtLtuMefv6
https://dl.doubtnut.com/l/_KZiRZY4pHyRv
https://dl.doubtnut.com/l/_ns1ALRFaRRcF

45. The picture below shows two circles, each
passing through the center of the other.

Calculate the area of the region common to

both.

o Watch Video Solution

46. The figure shows three circles drawn with
their centers on each vertex of an equilateral

triangle' and passing through the other two


https://dl.doubtnut.com/l/_ns1ALRFaRRcF
https://dl.doubtnut.com/l/_leqlXf2ZCukq
https://dl.doubtnut.com/l/_ThMYQslkWzU8

vertices. Find the area of the region common

to all three.

° Watch Video Solution

47. The picture shéws a rectangular sheet of
metal with two semicircles (half circles) are,cut
away. Find its area.

(##VPU_HSS_MAT IX_CO9 EO6 006 QO1##)’

o Watch Video Solution



https://dl.doubtnut.com/l/_ThMYQslkWzU8
https://dl.doubtnut.com/l/_EcayCCR7FtpT

48. A garden is in the shape shown below, with
two semicircles on the shorter sides of a
rectangle of sides 30 m and 20 m. What is the
cost of planting grass in it, if the rate is Rs 25

for each square meter.

o Watch Video Solution

49. The pendulum in a clock is 14~cm long. It

moves through 40° makes one oscillation.


https://dl.doubtnut.com/l/_Krifu15cD8H0
https://dl.doubtnut.com/l/_3HZje9qZmRsY

What is the distance travelled by the tip of the

pendulum during one oscillation?

° Watch Video Solution

50. The minute hand of a clock is 20~cm long.
What is the area it sweeps off from 5:10 AM

to 5:25 AM?

° Watch Video Solution



https://dl.doubtnut.com/l/_3HZje9qZmRsY
https://dl.doubtnut.com/l/_R5ieoeXl1s9d

51.In the picture below, C' is the centre of the
circle. Find the area of the shaded portion.

'(##VPU_HSS MAT IX C09 E06 010 QO1##)’

o Watch Video Solution

52. In the picture ACB is an arc of the circle
with centre O and radius OA. Find the area of
the shaded region.

(##VPU_HSS_MAT IX_C09 E06 011 QO1##)

o Watch Video Solution



https://dl.doubtnut.com/l/_JowEeC9FJKt1
https://dl.doubtnut.com/l/_9vYAmkhsPHdJ

53. In the picture below, AB and C'D are arcs
of circles centred at 0. If OA = 8m and
OC = 12¢m, find the area of the shaded
region.

(##VPU_HSS_MAT IX_CO9 E06 012 QO1##)’

o Watch Video Solution

54.Find the relation between the length of an

arc and the area of the sector formed by It.

o Watch Video Solution



https://dl.doubtnut.com/l/_9vYAmkhsPHdJ
https://dl.doubtnut.com/l/_LZy86nTeskxT
https://dl.doubtnut.com/l/_ZmjrpJQbkBU1

55. The figure shown below is formed by a
rectangle with semicircles on each of its four
sides. If the sides of the rectangle are 16 cm

and 12 cm, what is the area of the figure?

o Watch Video Solution

56. Each side of the regular hexagon in the
figure below is 20 cm long. Find the area of

the shaded portion of the figure.

| = 1


https://dl.doubtnut.com/l/_ZmjrpJQbkBU1
https://dl.doubtnut.com/l/_LEE1g2IU8v7i
https://dl.doubtnut.com/l/_2EYSksNQ5SpR

I &9 Watch Video Solution I

57. The shape of a garden is as shown below, a
square with semicircles on each of its sides. If
the perimeter of the garden is 352 meters,

what is its area?

o Watch Video Solution

58. The perimeter of a sector of a circle is
25.28cm and the length of its arc is 14.08cm.

What is its area?


https://dl.doubtnut.com/l/_2EYSksNQ5SpR
https://dl.doubtnut.com/l/_wXfYOJ30pz1q
https://dl.doubtnut.com/l/_O2H40KJyYMHQ

° Watch Video Solution

59. The sides of a triangular field aré 35m, 42m
and 47m, There is a wall around the field, and
within it, at each corner a cow is tied with a
piece of rope 7m long. What is the total area

of the region that the three cows can graze?

° Watch Video Solution



https://dl.doubtnut.com/l/_O2H40KJyYMHQ
https://dl.doubtnut.com/l/_iFGvXItgJu5y

60. In the picture below, O is the center of the
circle and OABC is a rectangle OA =8c.m OC
=15cm. Find the area of the shaded portion of

the circle.

o Watch Video Solution

61. At a certain speed, the wheel of a bicycle
rotates 100 xx per minute and at this speed,
the bicycle travels 11 km in 11 minutes. What is

the diameter of the wheel?

| & I


https://dl.doubtnut.com/l/_IaBCvHKQffZM
https://dl.doubtnut.com/l/_yzDD1AdDAku7

| ¥ Watch Video Solution |

62. In the picture below, ACB is a semicircle.

Find the area of the shaded portion of the

figure.

o Watch Video Solution

63. Among an equilateral triangle, a square, a
regular hexagon and a circle, all with the same

perimeter, which has the largest area?

o Watch Video Solution



https://dl.doubtnut.com/l/_yzDD1AdDAku7
https://dl.doubtnut.com/l/_a1ENcmf0QL48
https://dl.doubtnut.com/l/_KidslC9kFbFa

64.From a rectangular sheet measuring 84cm
by 24cm, how many discs of radius 4 cm can

be cut out?

o Watch Video Solution

65. With each vertex of an equilateral trianigle
as centre a circle is drawn as shown in the
picture. If the area of the triangle is

17300sq_ .m, what is the area of the shaded


https://dl.doubtnut.com/l/_KidslC9kFbFa
https://dl.doubtnut.com/l/_PdmIg7T4A2aP
https://dl.doubtnut.com/l/_IgDHHMD9iwbB

portion?

'(##VPU_HSS MAT IX_CO9 EO6 024##)’

° Watch Video Solution

66. ABC is an equillateral triangle and O
is'the clrcumcentre of the triangle. Triangle
divides the circle into. three arcs. Length of
one arc is 10mem

'(##VPU_HSS MAT IX C09 EO7 001 QO##)'.a) -

What is the perimieter of the circle?


https://dl.doubtnut.com/l/_IgDHHMD9iwbB
https://dl.doubtnut.com/l/_BoruoZHLOycr

b) What is the measure of ZAOC?

c) Find the area of the shaded region?

° Watch Video Solution

67. O is the centre of the circle.
AB = BC = AC = 10cm’
a)<AOB=-

b) What is the radius of the circle?

c) Find the area of the circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_BoruoZHLOycr
https://dl.doubtnut.com/l/_hmgZcrfqZurf
https://dl.doubtnut.com/l/_l8ebnxxL80zw

68. In the figure, all the vertices of the
rectangle ABCD are points of the circle,
a)Find the length of the diameter of the circle.

b) Find the circumference of the circle.

o Watch Video Solution

69. The length of a side of the square in the
given figure is 4 centimeters. Sectors are
drawn with vertices of the square as centers.

a)What is the radius of the sectors?


https://dl.doubtnut.com/l/_l8ebnxxL80zw
https://dl.doubtnut.com/l/_VRTbtNyKn4hG

b) Find the total area of all the four sectors.

c) Find the area of the shaded region.

° Watch Video Solution

70. Corners of a square are. on a circle. If the
length of one side of square is 10 cm, find the

perimeter of the circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_VRTbtNyKn4hG
https://dl.doubtnut.com/l/_tE5TBWenTC7x

71. What is the area of the large triangle

inscribed in a semicircle of radius 7

° Watch Video Solution

72. The minute hand of a clock is 12~cm long.
What is the area it sweeps of from 6.10AM to

6.30 AM?

° Watch Video Solution



https://dl.doubtnut.com/l/_JRmX1F6xWIYQ
https://dl.doubtnut.com/l/_BSmuZq5MmSz3

73. Area of a circle'is 6257 sq.cm and area of a
sector in this circle is 1257 sq.cm

.1) Find the central angle of the sector.

i) Find the arc length of the sector.

i) Find the perimeter of the sector.

o Watch Video Solution

74. A car has two wipers which do not overlap.

Each wiper has a blade of length 25-cm


https://dl.doubtnut.com/l/_WWo2jrSIWRsz
https://dl.doubtnut.com/l/_l1XeSymtis4G

sweeping through an' angle of 115°. Find the

total area cleaned at each sweep of the blades.

° Watch Video Solution



https://dl.doubtnut.com/l/_l1XeSymtis4G

